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Topic:- Child Development & Pedagogy (CDP)

1) 1f a child has mental age of 12 years and chronological age of 10 years then his IQ will be . afe frelt a1 &Y WAl S 12 ay %

SR BTATIHIIS 3Tg 10 T4 § o ITBT Sy (fSaam) _ ghmi
1. 80

2.120

3.125

4.100

Correct Answer :-

« 120

2) which of the following is an incorrect advantage of problem solving method of teaching?/ fafafead s P-4 ﬁT&‘I'UT B IHET B B
P @ Rl &1 Tea @y 82

1. All disciplines cannot use this method to solve a problem / Tt ﬁ"\%ﬁ[ < q@ﬁf BT UGN JHT DI Bd AP faw ,__rbp[ R GPhd %I
2. Learners participate actively in the process / 38 Ufehar & A& (e1eX) Afeha ®U & 0T X 1

3. It makes the learner interested in the learning process / J& rereft (?»lo‘-iT) I 31TeTH &Y ufshar & feermredy %Tvﬂ?ﬂ%l

4. Evaluation of learning using this method is easy/%qﬁﬁwmﬁmﬁmmﬁm%l

Correct Answer :-

« Evaluation of learning using this method is easy / 39 g T 3UITIT A I 7T Pl ?FJFCI'I?FT 3ATETA '&'-TGTIT-H%I

3) Gray matter of the brain that controls IQ and memory have greater volume in learners who i g@ 3R '\qiﬁf &) fAfaa &= aren
afRrss &1 3 AR, Rrenfiay & orftres wram & grar 81

1. get sufficient sleep/ TATH g o<l @Ter

2. take healthy diet/ TI€T TR ol dTel

3. avoid stress/ dATd & T dTel

4. exercise regularly/ TAIHT ¥ ¥ A A aqTel

Correct Answer :-

« exercise regularly/ Aafdd ®7 ¥ car@H RS arer

4) The is one who is more open, accommodating, venturesome, outgoing and pretty confident. / dg % St 3ifre Tl fh?mmv,

Seasii, §UgE R PTE STty aren B
1. Introvert / JiaET

2. Intro-extrovert / 3{wl- afkafe

3. Extrovert / I3[

4. Ambivert / SHIHET

Correct Answer :-

« Extrovert / Elﬁ'oi’@’f



5) Obsessive-compulsive disorder (OCD) can be successfully treated using: / ﬁ-’fﬁ-mm faer (Gﬁ?ﬁ?ﬁ) DI W EGIE) =
IUGRT B BT oI T &:

1. Cognitive behavioral theory/ SIS deR Rigid
2. Massage therapy/ Tl 4RdY

3. Antidepressant medication/ TEITSURIT &ar

4, Systematic family therapy/ JoTeloTd TRER 2RdY

Correct Answer :-

. Cognitive behavioral theory/ SRTHIHS HdER Rigid

6) Which is the SECOND step in the problem solving method? / AT WA fafer & G WO HieT AT g 2
1. Formulation of hypothesis / uReegsit &1 fARegur

2. Testing hypothesis / TR&EUATT HT TIET0T

3. Recognition and definition of problem / T&TaT &1 A 3R gRemr

4. Conclusion / sy

Correct Answer :-

« Formulation of hypothesis / uReeu-sit &1 fARegur

7) What part of our memory stores events that happened in our lives? / §HNY Fiﬁl’ FT FiT A1 REwT g Shaar & gfeq geamit &
IR 22

1. Episodic memory /Eﬂﬂ'ﬁ?ﬁ Fﬂﬁf

2. Procedural memory / UfhaTcH® H{ﬁ

3. Semantic memory / QUegTd H{ﬁ

4. Declarative memory / BN LIGEE Fﬂﬁ

Correct Answer :-

« Episodic memory / INRE Fﬂﬁf

8) What is the first stage in moral development according to Kohlberg? /

FEaad & FTAR Afaw RFEw & ggar @O FAT T2
1. Preconventional morality / CE"T-UWI'JH Afdepdr

2. Periconventional morality / U-URFWRWTA Afddhdr

3. Conventional morality / TRFRWTA Afdehdr

4. Postconventional morality / URT-URFIRMTA Afcidhdl
Correct Answer :-

« Preconventional morality / qd-URFURIT Afciehar

9) What is the term Freud used to describe his theory of the structure of the mind? / %3 ¥ fFE U T IUART AT N TIGAT F 37T
Rguia #1 aofeq F== & v frar

1. Consciousness / ERE|

2. Iceberg / W‘r
3. Libido / foife®



4. Landscape / ois&hd

Correct Answer :-

o Iceberg / KIS ED))

10) What social motive is characterized by a need to control and influence others? /

FlT-T1 FATIF W, @A H foifa w1 3Rk 378 vonRa wa A maegFar gaw aftta 872
1. Power / 21Ttk

2. Achievement / SUITERT

3. Affiliation / TIGF

4. Purpose / 38T

Correct Answer :-

« Power / QIfh

1. Uninvolved Parenting / 3&dg (HTdellcded T & & ST §37) WaRA
2. Permissive Parenting / HW wRafiker

3. Authoritative Parenting / FTfA®IR® TRaRer

4. Authoritarian Parenting / 3TfOGRaET wRaikar

Correct Answer :-

« Authoritarian Parenting / 3if®RaKT wafiver

12) At what age does the child start to show an understanding of the language? / ¥=aT ¥ 35 # oot fY gHST @ AR HT &ar &2
L Atbirth / S

2. At three months / /e FeH W

3. At six months / &: Helal U

4. At nine months / &l FET W

Correct Answer :-

« At six months / &: Held WX

13) The diagnosis for children having problem in word findingis . /9eat & g @ie N FATET FT @G _ gar #1
1. Dyslexia / faeifaraar

2. Dyscalculia / %W?F@TIT

3. Dysnomia / IER IR

4. Dystopia / [Beift=r

Correct Answer :-

« Dysnomia / &A=

14) Which is not the principle of inclusive education? / Hi-8T FATAA 8T F1 ﬁqma gt &2
1. No discrimination between learners /&&=t & = P Agoma =g



2. Separate classroom for special children /fIW g=al & fow 37ereT FHaTw
3. Equal educational opportunities /T AT aTR
4. Catering needs of the all children /H¥T TTdl HI WAUT TIUT AT PI AT TGAT

Correct Answer :-

« Separate classroom for special children /TIW a=ai & forw 3erer FHafm

15) Which of the following is not a factor that will protect a child against stress? /

i@ # & #l9 @1 & a7 FRF ad § N a9 F gy F T A W FEN?
1. Family / ORAR

2. Intelligence / g@'

3. Authoritarian parenting style / 3fAGRaK walker et

4. Peer relationships / TedhaT R

Correct Answer :-

« Authoritarian parenting style / 3Rarg gRaier et

16) A 12 year old child understands that the weight of a table remains the same whether it is right side up or upside down. What concept has
he grasped? / UF 12 TSl T godT Ig AT ¢ 6 UF AT FT qoi=T 981 T &, AT 98 &5 3T & AT 3o gl 39 oy
fageia #t wwsm 2

1. Conservation / TIETOT

2. Inductive reasoning / 3TITHATCHD GED
3. Object permanence / IE&J TR

4. Hypothetical reasoning / URehfeud s

Correct Answer :-
« Conservation / TI&JOT

17) According to Psychosexual Developmental Theory, fixation to which of the following stages results in dependency? / AAARE R ﬁz}mr F
TR, Prafafae srawumst & ¥ Rrad Puior (i) & Pelar & gur g @2

1. Anal / I[&T (TeTel)

2. Oral / #IT&F (3ReT)
3. Latency / GU&T (i)
4. Phallic / offfi (o)

Correct Answer :-

« Oral /A @F (3RA)

18) Growth always corresponds to the age of the child. This is because of the principle of ./ RS g T=d AT 37 F AT G 8 TE
& fguia % FROT g g

1. Continuity / IGIGEGI

2. Uniform Pattern / TehHAT Ueer

3. Integration / TehTehToT

4. Individual Differences / &fehed THeeTell

Correct Answer :-



« Uniform Pattern / Th@AT Yo

19) Which of these is the best way to improve problem solving skills in primary school children? / qrafAs ﬁﬂ}ﬂ?ﬂl’ F oAl # gAEAT fAaRor Fiere
# GUR F F1 T 3O adT F4T §?

1. Solving mathematical problems. / TITOTAT THETATIHT BT TATUA HLAT|
2. Find solutions to problems that they face in their daily life. / 3T FHATIATIHT BT FATIA @roleTr, HAd T 397 SfAw g & AT FT €
3. Talk about their problems to peers in the class and the teacher. / 3eTdhT THEATIHT F IR F HaT F Teursr 3R RN&Tw T 1T T

4. Apply steps of design thinking process and engage with community around. / @ &7 UfRRaT & TR & TRON B AP HT 3R 39T & | &
Y ET PAT|

Correct Answer :-

« Apply steps of design thinking process and engage with community around. / G &7 GRRIT & TR H TRON PN AW AT AR MAIE & qHaT Gil
Y & PCATI

20) believed that personality develops through a series of stages and the effects of childhood are long lasting. / HT AT a1 R

safFdca, @O A vF y@ar F ATeIH ¥ Rafda gar § AR q9va F e F9 §HT 9F @ 8
1. Albert Bandura / Sl EIETI

2. Jean Piaget /Gﬂ:[ ﬁtﬂa

3. Sigmund Freud | ToTes was

4. Lev Vygotsky / foa Wﬂ?\‘:ﬁﬁ'

Correct Answer :-

e Sigmund Freud / RI9TdHE s

21) Who described a phenomenon called horizontal decalage? / aifasr ?ﬁ'ﬂ AAF AT T quid fhasr RFam?
1. Erikson / 3TeraeT

2. Piaget / Tmet

3. Freud / IS

4. Vygotsky / Wﬁﬂiﬁf

Correct Answer :-

« Piaget/ TSt

22) The term normative development indicates: / f&nes® @ reg gfea e &
1. Rate / &Y

2. Extent / TYAT

3. Direction / f&_IT

4. Distinctive qualities / fafrg IqoT

Correct Answer :-

« Distinctive qualities / fafre 07

23) When environmental influences coupled with cognitive factors are responsible for learning, such a learning is known as:/ ST UITaRofly gs1Ta,

HFAFAICHS SR&I & 1T Aadt JIH & v Frder ad & ' 59 a@ & 30w § @FFT & § &7 a9 &
1. Operant conditioning / 3Ta¥e IRIfAT

2. Trial and error learning / U=l 3R Ife 31farH



3. Social learning / TATTSR 3TTAITH
4. Classical conditioning / Felflhel HSIRATAIT

Correct Answer :-

« Social learning / ATATSIH 37T

24) As a future teacher, you will need to and connect with roomful of diverse students. / T $TaY &1 & T &, 3TIHT #r
TR g 3R e ot Ay e F qrer g g

1. Deal / 81T
2. Connect/@ﬁ

3. Understand / OHST
4. Collaborate / HEIT

Correct Answer :-

« Understand / G

25) Which of the following is not an example of critical thinking skills? / ﬁmﬁf@aﬁ#ﬁh—mmﬁlﬁwﬁaa HITh mﬂ'ﬁ%”
1. Improvising /dcepTel R T

2. Classifying /aj‘ﬁ?{ﬁih—{?ﬂ

3. Tracking /o1& aXOT

4. Describing /cITEITcHD

Correct Answer :-
o Improvising /dcehlel R AT

26) When children recognize that each individual is aware of other people’s thoughts and feelings, then it is called:/STd T qe tl?ﬂ'l*lﬁ

& % ude afda gay @il & faRY ok wra=neit & sravd 8, ot Ug &el e &:
1. social information role taking/ ETHTIoTe FAT HHBT el

2. social and conventional system role taking/ ETHTIST 3R URURE UUTelr & e ot

3. self-reflection/ 3TTed UfAfda (Few-RoFeirr )

4. mutual role taking/ 3T BT T

Correct Answer :-

« self-reflection/ 3Tcd ufafda (Feh-RoFelRE )

27) Why do we have culture-fair tests for intelligence?/ E;"Flﬁ LIRS ) g@"ﬁﬂ & ﬁl’E Wﬁf-ﬁm’&f qﬁ&fUT Y %‘.’

1. Intelligence tests should free of differences in language and education./ g@ﬂ?ﬂ giamn , HINT IR &M F R Had B EliEYy
2. Cultural understanding is a part of intelligence./ Wﬁﬁﬁ CIES §@ BT e !

3. Intelligence is culture-dependant./ Q@ WW—\W TR B

4. Intelligence can evolve/ Q@IR‘IT & fowfa fovan s gear % |

Correct Answer :-

« Intelligence tests should free of differences in language and education./ m TRI&T, TS R &P IR Y Had B =nfeu|



Which of the following determines the impact of failure in school performance? / AR & A H-A1 fFemery ez A srrwadar &1
wHTa Fyffia sRar g2

1. Time allotted is more than what is actually required to finish the task / Jrdfed Ivg 39 Elv—l'cf T 3fIs % o 9Rda o EFI'LII o0 PAD 1%1? S{TAYh
o

2. The pattern and setting of task / &1 BT e SR TR

3. The Challenge - what the children asked to do—which is not engaging or relevant. /ﬂ:ﬁ?ﬂ - S U S B & foIT gl T - 3HN S a1 Ui
e

4. Level of easiness in the task / BT & HITHAT hT IAX

Correct Answer :-

« The Challenge - what the children asked to do—which is not engaging or relevant. / g:i ot - S 4 Sl R o o8 g T - THYS I URifTs
T gl

29) A learner is an intuitive learner if / Tl'ﬁ Th ﬁT&‘ITfoW I gad % Gl dg W 3-17“?

1. They notice the big picture, see how everything connects. / q a?ﬁ TER ¢Ed %, IR I P Gﬁ@ﬁ o1 UfehaT & WA B
2. They pay attention to concrete facts and details. / C IH T 3R faaRol R e A Bl

3. They focus on the reality of how things are. / 3 o it %, @] aRAfadhdl IR &M od %I

4. They like to describe things in a specific, literal way. / 98 ISkl ﬁQTE’, TG &1 Y TG DI PIRR HA % |

Correct Answer :-

« They notice the big picture, see how everything connects. / 3 333[ TR TEd %, IR TE P o] S = P UfehaT BT T %l

30) Which famous professor proposed that children move from a position of egocentrism to sociocentrism because of social interactions? /

e iy e o yfaufea fFar & a=a amfas weul & #Ror, sreasfeaa Rufa & gaeemT 1 3T 96 &2
1. John Dewey / i T5

2. Lev Vygotsky / od argaicer

3. Jean Piaget / ST fo=mer

4. Howard Gardner /%a$ IMSaR

Correct Answer :-

o Jean Piaget / ST fOamer

Topic:- General Hindi (L1GH)

1) 3o foram sil, 3o fram ai,
ared iR e ¥
WR-W A F
Tt 3 ame ¥
STHT YR 7491 39
TR IG A, IR @A
A 3R § IUS-gHS R
P STa afe 3@ at
A ol F uRA Bt
YRR AL §

g TSN ABR 315

W R, faa grars



A g, erpat ¥

forg, wel & ga@w g

R & el urg, g,

R g

ITYT LT P UeHT A I W 91 IR BT IiX Ia15¢|
UR: IR BT ST HT 2

1. FAMER 3R TR =t

2.5 @ HE AL

3. Pad W

4, hadl AR

Correct Answer :-

o FATR AR @R gt

2) 3o fFum aft, 3o fram o,
15w fiR ame &
VRN A F

T 3 ame ¥
JTEHT R 71 & it

TR IG A, IR I@ A

PTA qIGA P 3@ a

A wo F 1A By
YA A &

Tg TN AP 3TS

WY 9, Mfaa qrars

AR R, apd o¥

forg, #f & g omé

3 & weddt urg, g,
R Mg g

I LT P UgHT 1 I W 91 IR BT IiX 93¢
W B) P qaigar Tee o e 82
178

2. 3T

3. fpaa

4. faemafa

Correct Answer :-
o faemufa
3) 33 e oft, 35 fwam aft,
a1ee iR ey &
VRN A F
arft & ey
AT R 71 & it



TR IG A, SR I@ Al
A 3R § IUS-gHS R
P STa af e 3@
A o F uRA Bt
YA A &

g TN AT TS

W R, Mfaa qrars
o forg, erdat o¥

fore, et & o o
v 3 e wig, g,
Rw g

ITYT LT B UgHT 1 I W 91 U BT IiX da1s¢|
U 915 FEs AU 2
L. fraa &

2. fopare & gRar

3. @at

4. grad &

Correct Answer :-

. fraa &

4) 3o fum off, 3o fam ai,
15w fiR ame &
VRN A F

Tt 3 ey ¥
JTHT WX 1 & it

TR IG A, SR I@ A

P STa afe 3@ a

A% o F uRA Bt

YRR A &

g TN AP TS

W 9, Mfaa qrars

A g, erpat ¥

frg, wel & ga@y g

3 & weddt urg, g,
R Mg g

ITYT UL P UeHT A I W 91 IR BT I da1s¢|
URH: gRaTg’ &1 3rdf T giaT 82
1. ufRrey 1 3R Tea arell gar
2. T80T T 3R T arel gar
3.qd f 3R IoA arel g
4, 3 f 3R Tl arell &ar

Correct Answer :-

« qF & AR ¥ T arel g



5) 3¢ feam 3il, 3o feam aif,
aree fiR amy &

VRN AT F
Tt 3 amy ¥

ST WR T & <Y

TR I, IR I@ A

A 3E § SAS-YHS IR

PTa qIG e 3@ a

A% o F uRA Bl

Y I AT &

TE HI ABT 3T

WY 9, Mfaa qrars

A g, erpar ¥

forg, #f & g omé

f5Y 3 W g, 4,
R g

ITYT LT P UeHT A I W 91 IR BT I«iX 98¢
T Xiiad RATE A S § 2
1.9 gar

2.9

3. &) gar

4. HHT B

Correct Answer :-

. &8 gar

6) 3 fuam s, 38 fam off,
e iR sme

VRN AT F
ardt & ame §

ST WR T & <Y

TR I, IR I@ A

A 3E § SAS-gES IR

PTa qIed af® 3@ a

A% o F 4R Bl
YA A &

Tg T ADT 3

WY 9, faa gRars

A g, erpat ¥

fRrg, et @ Taw g

f5e & W wgH, 4,
R Mg g

IUYa U F) USHR Y T T a1 T P I« IAz¢U
R urge’ & orf @ 82



L5 A PIg A

2. hael AgAH

3. dhaa HfAfT

4. FgAE AR FAAMDY =t
Correct Answer :-

« Fgwa 3R A g=t

7) 3o fFam 3, I3 fpam 3,
area iR amg ¥

VRN AT F
Tt & ame §
STHHT W 41 3@ af

TR I A, SWIG Al

PIe A6 afI @ df

A ol =R B
I A &

Tg UM AR 3T

WY qR, faa gRars

A g, errat &

g, Tt @ Taw oaTg

% 3 vt wigH, g,
R g

ITE T FI UGHR Y IR 9 aTa U BT Sk garsu|
W AT 1 R g 71 82
1. 97T

2. 307

3. fema

4. FaTTel

Correct Answer :-

8) 3o forar ff, 3o frar aft,
arew fiR My &
WR-WR A &
areft 3 amg §
STHHT W 141 3@ af
TR I, SR I@ A
T R ¢ IHS-IES I
Pl STge afe g@
Ay F 4R Y
I &

Tg I AP 3T



WY 9, faa gRars

N R, s R

fRrg, el @ Taw g

3 & el urg, T,

R Mg g

IUY U F) UEHR Y T T a1 T P I«R IAz¢I
T TIGH ¥ A I8 82

1. §-31A

2. 3HS-gAS

3. g8

4. BH-BH

Correct Answer :-

9) 3o fPam ait, 3o v 3,
area iR amg ¥

VRN AT F
Tt & ame §
STHHTE W 1491 3@ af

FWR I, IW @ al

A IE § SAS-gES W

PIet A6 afIb @ df

A 7ron F =R B

Y I A &

Tg T ADT 3

T AR, e Rars

A Ry, rrat

g, et A Taw oaTg

53 3 w3l urgH, g,
R g

IUY U F) USHR Y T T qT U P I« Iaz¢
= afe & ordf w82

1. Fsifa

2. isr-|1

3.9gd

4, 37fQeier

Correct Answer :-

. s

10) I fFum 3, I3 fam off,
e iR sme

VRN AT F
ot & ame §



ST WR T & <Y

TR I, IR I@ A

A 3E § SAS-gES IR

PTa qIGd e 3@ a

A% o F uRA Bl

Y I AT &

Tg WA AP 3§

W AR, Maa gRarg

A forg, ot ¥

forg, #f & g oré

f5e & W g, 4,
R Mg g

ST T P UgH? 1 IR 9F a1e U BT Sk 9a1sg|
U ‘SIga’ &1 yataar Wes 872
L%g

2. 79

3. fedTerT

4. ST

Correct Answer :-

11) 33 far 3N, S8 foram i,
g iR sme

VRN AT F

ot & ame §

ST WR T & <Y

TR I, IR I@ A

A IE § SAS-gES IR

PTA qIe af® @ a

A% 7o =R Bt

Y I AT &

Tg UM AR TS

WY AR, XMae gRarg

A g, erpat ¥

fRrg, et @ Taw g

f5e 3 W g, 4,
R Mg g

IUY U F) USHR Y T T a1 U FT I« IaAz¢I
U=H: W U o 6w wEA &1 aufq @2
Ly

2. FOR

3. arat

4. 9rdel

Correct Answer :-



12) I fram on, 93 foram af,
a1ee iR ame &

VRN A F

arht 3 ey ¥
STEHT WX 71 & it

TR IG A, SWI@ Al

P STa afe 3@ at

A% o F uRA B

Y I AT &

Tg TN AP TS

W 9, Mfaa qrars

A g, erbat a¥

forg, w8l & TP 3mg

f5e 3 w3 wgA, T,

R Mg g

I LT P UgHT 1 I W 91 IR BT IiX da15¢|
UH: [RATS [P e aass omg 82
T

2. WY

3.91Y
4, fopaTe

Correct Answer :-

13) 3o fram off, 3o fFam ai,
aree fiR amy &
VRN A F

[t 3 ame ¥
STEHT R 71 & it

TR I, IR I@ A

A 3E § SAS-gES IR

PTa qIed P 3@ a

A% o F 4R Bt

I AT &

TE HIM ABT 3T

T AR, aa Rars

A g, et ¥

forg, #f & g omé

f5Y 3 W g, 4,

R Mg

ITYT LT P UeHT A1 I W 91 IR BT Ik 98¢



W QRATS it Eedt 37
1. e

2.5 @ FIg A«

3. 39 & §AA

4, A

Correct Answer :-

o 2Maa

14) I3 fHum sit, I3 fHam off,
a1ee R ame &
WR-W FGT S
af g eme ¥
STHHT YR 741 39
TR IT@ A, SWI@ A
A 38 § SUS-gHS N
P STGe afTe ¢@ af
A ol § uRA Bt
YR A &

g HIM AP 3T
T AR, Mad Rarsg
o fRrg, erat o¥

frg, wel & gaws org
v 3 e wig, g,
R g

ST T FI UgHR ) IR 9 I U= BT SR 91l
UR: diqe -

L. S §

2. foa €

3. @ €l

4, ghd &l

Correct Answer :-

. fora €

15) aftreATg # TTe digR N A1 § 3Ry & 9R 31 a9 71T SI1at 8 1 TTa & ugd i3 a1 il o1 ieR 1ATd §1 ¥ IR P QTS B ot 31 399
qgiaRr W= & et @1 Wt & o = ) 9= Sl ofiR 9Tl aeiTe] GRMAT 7Ame §1 9ie & A W= @Y Selt / weid @1 er- e il @ e sue
Ued €1 39 3 9 o T4 gl {1 T ¥ 3ifidY wrares? ¢ wed+ A viTer yeran wirar 81 a6 ® gedt &1 e &ty fan wimar 81 T3 & 39 ¥ T wwd &1 9|
UHTIT ATl ¢ | 9 9190 STAD &R IodT 8 dl ITH g8 ST &d &1 g¥ & ATY IHdT §HT TN T & &R I SHST & 3R IRY 3R Ry ifa § eus ugan
T 39 999 IR} 3R $hg A G A 17 354 € R i A fRrewma 7- vive wirar 3% wrar g @ 5 g ok o A i o1 vt Whier o o 31
ITY T B UgHR 1 IS T Y= BT Sk qarst|

U= FET-HipR it ahT T ugd 82

1. A PUS Ugeld B

2. e HUS UgAd &l

3. 3R UgAd §l

4. 9V $US Uged ¥

Correct Answer :-



16) afiremTg ® UiTe @ieR 1y A ® 3R ¥ IR AT 96 T ST @ 1 e & ugd T @ kit o1 dieR 7 1 9R IR 96 9wTs Ol 1 5w
TgiaRr W= &) SheT @1 Wl F o = ) 9= @ ofR 9T ] GRAT 7T §1 9ie & A == @Y Tt ¥ 9o #1 Ter- e 9t @ Y pue
Tgd &1 39 a7 99 7 a1 giar 81 3T § SFHSY sene AU ad+ ® UiTd BT WrdT 8| g9 § gedt o1 iy Sty foan wirar 81 T3 & 39 § T B &1 aad
UHTAT ATl ¢ | o9 9190 STADPT SHUR IodT & dl IH g8 ST &d &1 g & 1Y IHdT §3HT TN T & SHUR & SHST & 3R IR} 3 ez 3ifg # eus ugan
T 39 9HY URY 3R 3hg AN G A I 354 § 3R ey | frewrd 8- uime wirar 3= wrwar gt @ 5 g oiiv Sifiy A i &1 4T iR o o g1

I TR B UgHR -1 UD 7T U= BT Si¥ gargu |
W Ui e HE # AT o 82

1. gl

2. FIf®

3. BIeA[
4.3

Correct Answer :-

17) dfeTg | Uie QiR U A § 3R & TR 1 T 9T S @1 9T & ugd i @ il o1 digR W91 €1 I OR 9 9TE 3t Sl 81 39
TgiaRr W= & et @1 Wt & o = ) 9= Sl ofiR 9Tl aeiTe] GRMAT gAmd §1 9ie & A wR-3HT @Y Selt / weid @1 er-hed) il @ e sus
Ued €1 39 3 9 o T4 g 81 AT ¥ 3ifidY wrare? ¢ aed+ A e yeran wirar 81 a6 ® gedt &1 i &ty fan wimar 81 T3 & 39 ¥ T wwd &1 9mad
ST ATl ¢ | I 9190 STAD &HUR IodT 8 dl ITH g8 ST &d &1 g¥ & 1Y IHdT §HT TN T & &R I IHST & 3R IRY 3R Ry sifa § eus ugan
B 39 999 IR} 3R shg A G A 14 364 € R iy A fRrewmd 7- vime wirar 3% wrwar gt @ g ok oifir A i @1 it Whier a o 31

ITY T B USHR 1 U T Y= BT Sk qarsu|
R e e e ST 32

1Lgee &

2. 308 #

3.9 &

4.9 A

Correct Answer :-

o 3N A

18) afiremTg ® UiTe @ieR 1y A ® 3R % IR AT 96 T ST 8 1 TRTe & ugd T @R kit o1 dieR T 1 IR IR 6 9wTs i Ol 1 51
TgiaRur Waws B Wl 8 1 Wil & T &) 9= @it ofk aTot Ieieh] Rt 7 § 1 9hTd & A TR-3i1H Y il & T €1 gT-4iew 9t @ A sue
Tgd &1 39 a7 99 7 Ta1 giar 81 3T § 3RS saney AU a6+ ® UiTd BT ST 8| g9 § gedt 1 W Sty foan S 81 T3 & 39 § T B &1 aad
UHTT 91T § | 9 190 STAPR X Sodl & df SUH g¥f ST 3d &1 §Y & 1Y IB-aT 3 GITd i & SR & TSl § 3% IRY 3R R sifa & <uss vgar
21 39 JUY IRY 3R 33 ANT QR A 7= So4 & 3R S | Rreard 8- "Wira wirar 3= wawdn it & fr g o Sy A vite &1 ot Wi R #% R 81

I TR B TGP A1 ID T U= BT Sk gargy|
W T T 82

1. #iea 3R &g

2. e 3R e

3. &R 3R e

4. Hie 3R *g

Correct Answer :-

. R 3R e

19) affreATg  TTe igR N A1 § 3RY & 9R A1 a9 7=maT oI1at @ | TiTa & ugd 39 @R il o1 dieR 1A1d §1 ¥ IR $ QTS B ot 71 399
yaferur @3 §) wraT 81 W & fo7 2 @Y 9= S ofR TS I} GRMT 791 § 1 e & R TR-SH 3 Tt & aed §1 Te1-tiew 9t @ Y $us
ga ¥ 1 39 3 99 oo 91 gYar 31 S & 3T srares) AU s+ & uie ysmTan wirar @1 9 & gest 1 vrur sty foam S @1 3 F w0 § i a1 gmad
UHTAT ATdT ¢ | I 9190 STAD &UR SodT 8 dl ITH g8 ST &d &1 g¥ & ATY w1 §HT TN T & &R I SHST ¢ 3R IRY 3R Ry ifg § eus ugan
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IR TR B UGHR 1A YD Y Y= BT Sk qarsu|
we: 3f 1 vataarh wes T 22

1. 37T

2. Tad

3. UTah

4. 3197

Correct Answer :-

20) afiraHTg ¥ UTd AR N 919 ® 3Ry & IR 341 a% 7 ot 81 1ia & ugd 3 @ uiifl 1 digR 7 1 R IR F gwTs @ o 81 59
TgiaRr W= &1 et @1 Wit F o = ) 9= @ ofR 9Tl ] @RAT 1A §1 9e $ 39 wR-3HE @Y et ¥ 9o §1 Te1- e 9 /1 Y pue
Tgd &1 39 37 W 7o a1 giar 81 3T § 3RSt sane AU ad+ | UiTd BT WrdT 8| g9 § gedt o1 iyt Sty faan e 81 T3 & 39 § T B &1 g
UHTAT ATdT § | O1F 9190 STAD &HUR IodT 8 dl ITH g8 ST &d &1 g & 1Y BT §3HT T T & &HUR | IHST & 3 IRY 3 ez 3ifg # eus ugan
T 39 99T URY 3R 3hg AN G A 4 354 € 3R 2y | fRrewrd 8- uime wirar 3= wrwar gt @ 5 g ofiv Sifiy A i &1 4T iR o R g1

I TR B UgHR -1 YD T U= BT Sk gargu|
UL: b e BT A1ad GITe § TS &g W fhar st 82
1.5 § PS5 AL

2. T B B

3. QAT BEeT Wl

4. QU 3R QAT HHAT BT

Correct Answer :-

o T B P

21) dftraATg ¥ Ui eR WY AR & 3RY & IR AT a9 T oiaT 8 1 9ie & ugd 37 ann Wiy &1 AieR 7T €1 R TR B 9T @ W 81 399
TgiaRuT W3 B St 81 Wil & T oY 9= @it ofk aTot Seieh] @Rt 7T €1 9T & R TR- 31T Y ikl & Foid €1 8- e qaft @ A sud
Tgd &1 39 a7 99 7o T4 §ia1 81 3T § 3RSt saney AU a6+ ® UiTd B oTdT § | 999 § gedt o1 W Sty foun S 81 T3 & 39 § T B &1 e
UHTIT AT ¢ | 9 9190 STAD SUR SodT 8 dl ITH g¥ ST &d &1 g¥ & ATY w1 §IT TN T & &R I SHSAT 2 3R IRY 3R sy ifg § eus ugan
B 39 99T 9RY 3R 363 AN G A 4 354 § 3R i | frewrd 8- uia wirar 3= wrwar g @ g oiv Sy A vl &1 ot Wfie R a2

UG T B UG F¥ TR T 7 BT S TS
o= Wit & R TR | aRa 32

1.5 § P AL

2. hadl de g &

3. %ael el JolT

4. 31 AR arat @t gord §l

Correct Answer :-

. o AR e g o §

22) afiraeTg ¥ UiTd WiER N 9 ® 3Ry & IR 341 a% 7 ot 81 1ie & ugd 3 @ uiifl &1 digR w9 1 R IR F awis B o 81 59
TgiaRUT W= B W 21 Wil & T = &) o= et ofR a1t SeiTeh] Rt 7 § 1 UTd & 3 TR-3i1TH 3 el | T €1 AgT-aiew 9t /i Y sue
g &1 39 a7 99 7o a1 giar 81 3T § St sane AU o+ | WiTd T wrdT 8| g9 § gest o1 uur Sty faar e 81 T3 & 39 § i wd &1 aad
UHTIT ATdT § | O 9190 ITAD &R IodT 8 dl IH g8 ST &d &1 g & 1Y IHaT §3HT T T & SHUR | IHSdT & 3R IR} 3 sz 3ifg # eus ugan
T 39 999 IR} 3R 33 AN G | 14 354 € MR Wiy | fRrewrd 8- uime wirar 3= wrwar gl @ 6 g oiiv Sifi A i &1 it Wier o R g1

ITE TR B UgHR -1 YD 7T Y= BT Si¥ gargu|
U= @R =it | ) 9 Sed 82

L. 37 & g F PROT

2.98 & 3Ed BT & BROT

3. 98 T 30T & gHda & dROT

4. g7 g 30T & vt & M THHER A & FROT
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- T g HT & GRT T AT FHER A & HROT

23) dftraATg § UiTe eR WY A § Y $ TR 3T a9 WA oiaT 8 1 Uie & ugd 3T @ Wity @1 iR 79T €1 R TR B TS @ Sl 81 599
qgiaRr W= & et @1 Wil & o = ) 9= Sl ofiR 9Tl aeTes] GRMAT 7T §1 9ie & 39 wR-3HT @Y Sielt F 9o #1 er- e 9l @ e sue
Ted €1 39 39 9 o 791 g {1 T # 3ifidY wrare? ¢ e+ # vier yeran wirer @1 a6 ® gedt o1 i &ty fan wiar 81 T & 39§ T v &1 gmad
UHTIT ATdT § | I 919d STAD &R IodT 8 al ITH g8 ST &d &1 g & ATY IwdT §3HT TN T & &R | IHST & 3R ARY 3R R 3ifa # eus ugan
T 39 999 IR} 3R 33 AN G A 14 354 € R iy I Frewrd 8- uime wirar 3% wrar gt @ 5 g ok oifiy A i &1 i Wier o R g1

T TR FI YgPHR FH IS Y T T IR TR
UR: T A T ST ST 22

158 A P A

2.1 @ ater

3. diaer @ oier

4. gedr T uiar

Correct Answer :-
o TodT @ gt

24) aftreTg B TiTe SR Ty AT § 3Ry & IR AT a@ wemar war 81 Wi & ugd R @i uii &1 @ieR 591 €1 R IR B 9wTE B o 81 3
TgiaRUT w3 Bl W 8 1 Wil & T &) 9= @it ofR a1t eieh] Rt 7 § 1 WTd & A TR-3i1TH Y il & "o §1 8- e 9t @i Y sue
g &1 39 a7 99 7 Tar giar 81 3T § SRSt saney AU ade ® UiTd U WirdT 8| g9 § gedt 1 iy Sty foan W 81 T3 & 39 § T B o1 arad
YHTT ST § | O TTael ST HUX Sod1 & o) STH g¥ ST 2d &1 §Y b 1Y IBdT g3 G T & HUX & SHST ¢ 3% IR) R R sifa & <usp v
T 39 99T URY 3R 3hg AN G A 4 354 § 3R 2y | frewrd 8- uie whrar 3= wrwar gl € 6 g oiiv Sifiy A i &1 i iR a foman 21

I TR B UgHR -1 UD 7T U= BT Sk gargy|
W yataRor H1 6fY e 1 ghm?

1. g+ 3TaRor

2. UR+3R0T

3. TRT+ 3RO

4, i+ 3TaRoT
Correct Answer :-

o TR+ 3TaRT

25) dftraATg § UiTe eR WY AR § RY F TR 3T a9 T oiaT 8 1 Uie & ugd 3T @ Wikl @1 iR 79T €1 R TR B TS @ ol 81 599
TgiaRr W= &1 et @ 1 Wt & o = ) 9= Sl ofiR 9Tl aeiTe] GR[AT g §1 9ie & A wR-3HT @Y Sielt ¥ 9o @1 er- e 9l @ Y sus
Ued €1 39 3 9 o 791 gl 81 3T ¥ 3ifidY wrares? ¢ wed+ A viTer yeran wirer @1 a6 ® gedt &1 e &ty fan wiar 81 T3 & 39§ T wud &1 9ad
ST 1Al ¢ | I I19d STAD &R IodT 8 dl ITH g8 ST &d &1 g¥ & ATY w1 g1 TN T & &R A SHST & 3R ARY 3R Ry ifg § eus ugan
21 39 999 IR} 3R shg A G | 14 364 € R i | frewma 7- wime wirar 3% wrar g @ 5 g ok oifir A vl &1 v Whier a o 31

IUY T B USHR 1 IS T U= BT Sk qarst|
W UiTE & i gago Fw giar 32

1. &

2. QI

3. 5415

4. fToRIw
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26) dftreTg # ditTe dieR 0 A1 § Ry & IR R4} de w=rar wirar 81 9T $ ugd R @l Wil o1 @ieR 991 €1 ¥ IR B 9wrE B o 81 59
TgiaRuT Wws B Wl 8 1 Wil & T &) 9= @it ofR ATt Ieieh] GRMT 7 § 1 9T & A TR-3iH Y ikl & T §1 8T 4w 9t @ A sud
Tgd &1 39 a7 99 7 Tar giar 81 3T § SRHSY saey AU adi+ ® UiTd BT STl § | g9 § gedt 1 W Sty foun S 81 T3 & 39 § T B &1 aad



YHTIT ST 3| 579 T1qd STAPY HUR 3641 § At ST gY ST 3d &1 §Y & HIY I=Ta1 T 91T T8 & SR & SASdl § 3R IRY 3R R sifa & euss vgar
%uwmwmwmwamm%mmaﬁmg “GiTTer Gl S8 T gl € fr g v Sifiy A vl @1 Wit Wi #% e 21

UG T B g F¥ TR T U BT SR TS
UR: TiTE & Ugd R @1 B4 1 iR 7 §2

1. A&

2.5 @ PIS ™

3. gl T

4, AT @

Correct Answer :-

o el @1

27) afiraeTg ¥ UiTd WigR N 99 ® 3Ry & IR 341 a% 7 ot 81 1ia & ugad @ @ uiifl 1 digR T 1 R IR F awis B o 81 339
TgiaRUT W= B Wl 21 Wil & T = &) o= @it ofR a1t SeiTeh] Rt 7T § 1 9Td & 3 TR-3i1H 3 el | o €1 8- 4wy 9t @i Y sue
g &1 39 a7 W 7o a1 giar 81 3T ¥ S} sene AU o+ | WiTd U wrdr 8| g9 § gest o1 Wyt aty faar e 81 T3 & 39 § T wua &1 arad
UHTAT ATl § | I 9190 ITAD &R o4l 8 dl ITH g8 ST &d &1 g & 1Y w1 §3HT TN T & SHUR | IHSdT & 3R IRY 3R sz 3ifg # eus ugan
T 39 99T URY 3R 33 AN G | 4 354 € MR iy | frewrd 8- vime wirar 3= wrwar gt @ f g oiiv Sifi 3 vl &1 it Wier o R g1

IUYe TN B UgHT I T T YR BT Sk qa1gel
WE: Wi dieR & o T g 82

1. 99 & Todr o1 gl dfer Sirar #

2. AT FAgra-aa e E

3. QY R AT /EE I B

4. TR-3TT T TN F Fomae A

Correct Answer :-

o AN Aer-did JE P

28) dfiraTg # UiTTe iR T 919 ® 3Ry & IR 341 a% 7= oirar 81 1ie & g o @i Wil &1 dieR 79 1 R IR F) G Bt ol 81 59
yafeRvr =3 §) 91T 81 Wi & o7 2y @Y = S ok IS T} GRMT wAT § 1 e & R wR-Si T 3 Tielt & Ierd §1 Te1-iew 9eft @ Y $us
TEd &1 39 a7 99 7o T4 gia1 81 3T ¥ 3RS sy AU a6+ ® UiTd B ST § | g9 § gedt 1 W Sty foun S 81 T3 & 39 § T v &1 aaa
UHTT 9141 § | 979 190 STAPR X Sodl & df SUH g¥f ST 3d &1 §Y &b 1Y IBdT 3 GITd i & SR & TSl § 3% IRY 3R R sifa & <uss vz
B 39 99T ARY 3R §h3 AN G A 4 354 § 3R Wiwr | frewrd 8- uie wirar 3= wawar gt € g oiv Sifiy A vl &1 i iR a o 21

UG T B g F¥ TR T U BT SR TS
URT: QNI g1 AT ST 32

1. SeThraT

2. Afdrer=rg

3. feeelr

4. 8H

Correct Answer :-

29) dfiraHTg ¥ UiTd AR N 99 ® 3Ry & IR 341 a% 7= o1t 81 1ie & ugd @ @ uiifl 1 digR oA 1 R IR $ 9w ot ol 81 59
TgiaRUT Wws Bl W 21 Wil & 3T < 3 9= @it ofk a1t Seieh] Rt 7T €1 9Ta & 3 WR-3i1TH 3 el | "9 81 gT-aiew 9t @ g sue
g 81 39 37 W 7o Tar gtar @1 T § 3} sene AU o+ | Wia T wirat 81 a9 § gest o1 Wyt Sty faar e 81 3 & 39 § i wud &1 g
UHTAT ATdT § | I 9190 ITAD &R IodT 8 dl ITH g8 ST &d &1 g & ATY IwdT §3HT T T & &R | IHST & 3R IRY 3 sz 3ifg # euw ugan
T 39 99T URY 3R 33 AN G | 14 364 € MR 2y I FRrewrd 8- uime wirar 3= wrsar gt @ & g oiiv Sifiy A i &1 it Wier o fRrmn g1

UG T B UG A TR T YA BT I&R TR
UR: I1ad e ueTar Sirar 82

1.cer &

2.9 & W+



3.f% &

4,73 #

Correct Answer :-

o TMed HF I H

30) 35 fFEnT 3, 35 fFEmT 3,
arger faw e

A - FET F
wreft F e
AT & AT @ ar

X 3@ dl, 3 @ ar

FIA ded dfew @

AN ot 7 s A

AT [T e §

Ig TIAT AT TS

T Ay, ffad warg

W AT, s W

T, Fef ¥ TawT IS

Y & e arg, g,

N = e §

39T ISR B IGH A & I ar G FT 3ok arsvl
9o e P F AT 71 9 §2
1. 797 T

2. faema

3. &

4. QAT
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Topic:- General Sanskrit(L2GS)

1)



Yol ufsear sreifafésera Teaed gdccl Fadd -

arTATidaayeFdl arerdufducdd|
ST aec gradraiaa] |l
AT FecorGdYRERYd AT AIaEATead]

e} e I | e
T AIOMEGUSHUSAHR AT A TTHTHSAT|
WWQWW‘ cd: HeT giatdT|
AT AT U TEGAT 97T - 9STsameT il

Ul ST F: AR ?

1. 3
4. &~

eellehl gfScar srenfafésery geaea Agdacal aad -

AR fAvAeE: AR Tad |
TSI PIA: hHATchrelsHead |
HIUTgald GFAg: FFARCEATATdsE: |
TRfasRne SiERM Jigeend vorafd |

HHIG: HEAd Hafd ?

1 -



1. -
2. =



yRTie 9Tdcar ey igasagcdi qIad -

A QT AT, RAIYH Reqeare $i0sar sfa aqfel: amaAf:
giae: |

FHITT 36T A ARAH 5cdd UodedNl Edihd A 3Hed | gelsd
FIEARIT HedPAR Tedd , HTold T TTded Fiaeqe: ed |
3T 3caedi Gfr denfinren: femrer: sfEdl 3@ wER Y uday
s T | AT TG S 3T YISl Sfd ar SIeNTeRIe: St ar
FeId| TEATOAT IS, FHATAAG:, TegdT@N  [TTEAT FATChT:  FAeH:
UHdied| HRATT qd o eNIR:,UREH  3REAER:, G 9
T%rgﬂsu-um: fdggd | 9IRaET WOUEl GeolldR fdgad | 3134
HRAESUET ol AfTTAUSS ddd | 30d TUSeUTaARIcaEd iasi eera
| 3FEATP e Held 3T | 3T Td &R, -%ﬁTfEUT:, HBTcAT gﬁ:,%ﬂ:
FEIEI:, foededay: dt:, TAAGAIT: aheq: T 3ITEA| 349 G-
TogaCcl-31eNeh- AR ATTE - A g T-§ Y -l RIoT- HaTH A g- 37eha-TclTd-
RIS -IUSITATEgTsdd: HElod: ATHHI: 3737de] |

3eioiehehrel 314 el Tdleg garsay:, FeM:, SoIaeigled Heled: JoNT:
Hollded |

T T AT BATeRI 7 gerafa ?

L g AT

3.

4. 2
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TRTHe 9TScar UeaEd &;ﬁgcdi qIad -

3TEAT 2 ‘A, HRdaYH Tergearer siusar sfa wqiel: amsafe:
gfas: |

T 3T AH CARAH $dd UsdedNl Edihd AT 31T | gelsT
HIEHRIT HdHAR! Tedd , Heold T T3Tded Fa&qa: 3T |
3T SeoRedl fofr oAenferren: fRATed: &A1 310 HER HIY Tday
g5 T | 3T T S 3T ‘Udauel:’ sfg ar AmfeRrer: sfa ar
heA| TRATORAT TS9N, THAT,AG:, TegdRN [dqecl ST e

vedled| HRAE qd  HET  SOEEIR:,UREH  3REERR:,  Glaor o
fergAeaP: @egd | dARAEr ol fGeelledr fagada |3

ARSI $eald AfTTAVSH ddd | 319 TSeufadAgIcasy s1a+i et
| 3TEAT &e: HElel, e | 319 Ud ARMA:, Mo, AelcAl g4,
ABIA:, foededay: q:, TAAGAUT: cldeq: T 37deA| 3039 G-
ogd[Ccl-37lTeh- TAehATIC T -HHGIC-g Y- LI RIoT-HATH - 3eha{-TTd-
fRIaTol-ToTiafiews{as: Fgled: emHaN: 3737ae |

3Mejfeleheplel 37T aTTeel, Tdleg, gaTsal:, HIN:, STeldglgied Hgled: J&uT:
Hollded |

FeATRANT wEAT fefer [Ferarfea 2
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3.
, Fieer

Correct Answer :-
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vollenl afScar renfAfisery Teaed YgHccl FIaId -

anTATidaayeFdl arervfducad|
ST dec gradraiaal |l
AT PocoradYNERYUTT IT AFTITEATed dl

e} 22 e
AT FIUMEGUSHATUSAHRY AT ATTHHAT|
a1 SEAT A IgRITeIffEr: ¢a: et gfstdr
AT AT I TEGAT 979l [ IveAgameTil

sy OaRt gradreit ?



UR=ee gfocar yeaed ‘gﬁdgrdi A -

STITCITE: ARISHIA: Sy Yulleiear: (guilear: ) d¢ faczarm
PIATCATHD SAAUG Tdolodadl ST | dEF T RAARIaA: f‘angb:,
ATar T gAeier IR—FEET | GsTAER: maﬂcgrdwbdmddﬂ ERGIEH

ArgaAdctl JAGHAR eyl Tt qedyearTsiaforaed saaariid
| § IoT ToagreAtssld del a&d fudr f‘\?lddal‘bgd%ﬁmchldﬁ carcr=gire ol
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dTelehed o TacAagol ofderd uied 16 &1 dieHesid Jci’
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MEAVISCEIA: FAR: SEE FITI ORI IHTh oI, T aTHTE0r
Al S | dehYA AT T dEITST dAleddedd | AT &

YT FATA dl AlecddeadedaTadlsaAd! el IeAd: Hedreed
eI IEATTSTA AHCAIRATESA | dF T Ifdeerard =1
AR RO AT, He ARy dedd Afae deledaedd |
IMfarerarded wfvad Fomeaa aeg gfasrear fafeaded
ATETTTRTEERT: TFFEIGARAATT | /AT U A TA =T
HATHAET FEHET TRUTATT |

USHhL: 3 SoH UTddled -






Ui ufecar yeaed ﬂsﬁdj__l’rdi qIaad -

STITCITE: ARISHIA: Hiely Yuliciear: (guildear: ) d¢ facaam
PICATHD SFAUG TaoleHAl AT | T&F faar waeeraa: Raare,
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dTelehed ° TacAagol A2 Uiecd I8 &1 dieHesid dea’
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AREAVTSCERIA: HHAR: SINMEE I U H o], He a0l
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AT ASFEIGARAATT | STl ITEusSI s gae=ea
TATTAET HEATT IRUTA |

a&da ey 9= vgd #Hafa -

1?—|'~Fﬂ'+3-ﬁl’
2(_-|'Fﬂ'+1'.’T:I'

3 +ﬁa’

ey + U9
4,
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11) .
Yol afScar srafAfésery weaed PgHccl FEad -
AR AT Ud: ST ISTad |
TSI HIA: HIAThreNsTH=RIT |
SraTgatd FFAG: FFARICEATIAs: |
Tafasiene gigaren gigarend vorafd |
HEATT DIEHA: AT ?
1. =
2. ~
3. “"- -
4, ~

eellent gfScar 3renfAfdsery 7oy qgdaccR Faad -

12)

AR TIIeYd: TSI TSI |
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THfsRIC IR AT voreafa i
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dcaey:

1. 2
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AT TSI TSI |
HSMcH>ATId SHIH: HHThESTASIRT |
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TRfasiene SiEARN Jigaend voreafa |
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T
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dTelehed ° TacAagol A2 Uiecd I8 &1 dieHesid dea’
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a¥f: gate] dale] dargentsr Ffaem: Wammﬂw | 3reficT = gafor
AREAVTSCERIA: HHAR: SINMEE I U H o], He a0l
A SeweT | dahY AT T IS Alcadfeddd | AT &
UhEHTAG (e JcHIA AhIEITH IHTHAUeA, HoANHEAIhIOT Ahg (A H Tebel
ST FABIA T AlecaeadeddeaaIsTAd IETd AT Toaraey
SN IRATCASTA, AHGTAGIRHANTS | TF T Ifdegrard =
AGTHATAA RUEAGT AT, He AT TEIT Afae deledaedd |
TMfAeararied Hi¥dd HlaAedde] deg ufasmear afeaasd
AT ASFEIGARAATT | STl ITEusSI s gae=ea
TATTAET HEATT IRUTA |

feA qaf@ sTacurer: Tear Afd IHKR -

Correct Answer :-

| arseA



18) +
eellent gfScar JrenfAfésery 7oy qgdacR FaIad -

areTeidadygerdl arErviducad |

ST Ut gee gradoteRaRt

I FeCoGdTREREITT AT AFFTATa T

T TEATI AASHITSATH: 3 FeT gfSte
AT AT U TEGAT 979l IS eTg ATl

gr har ATUsaeT ?

. SIE I

Correct Answer :-



IR TfScal UeaEd YgdHcN FIId -

3TEATh GO ARTE:, HRAAvH ‘Reqeare giUsar sfa uqfed: amafe:
gfas: |

TFfd 3T AH CARGH $Ad UededRl Eihd | 3 | dalsT
HIARIT FAPAN Tedd , Heold T T3PRied Flaega: 3T |
3T Seaedt B aanfawrer: fere: w#fEq s wER @dy gday
a5 TT | I UG Sl 3T YA ST @l STeNfeRTer: S ar
Hegd| TEATCIAT TS9N, THAT g, Tegeldl [ddear SAMEH: AT:
Usafed| $RAGET qd  AE SO, OROA 3REEER:, gt T
fergaer@ER: fdegd | aRaGEd TsurEl ool fdegza | 3nda
HRAESUET $ogld ATTAUSS dad | 31d UScUfaAeIcasd sTasi eerd
| 3TEATR GO HElel 3T | 39 Td ARME:, HPeor, HeleAr g5
AEIAR:, foededay: qh:, TAAGNRIA: cAdeq: T 311 3039 G-
oG aICcl-3Teh-TAshATIC T -HH G -B Y- 2T RToT-HaATH [ g-37ehard-ciTd -
fRIaTeN-torelafdeueida: Agled: ATEH: 3HaA |

JMegfoleheprel 313 MMeell, Tlog, GISAT:, FA:, ATTTEIGRY HEled: JoNT:
3T |

CHFITH RT3 & ?

_ dat
2.
T
3. =2
37T
4, 2
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2.

20

. 10

Correct Answer :-

20

) 3fdcer o ddedl de sig IR sfd
AIfc: Tsade a8 AT HART: 3ed-

) CIEIEREERI G|
) HTEUSUTaTh T

TegehN e WsITEHUTehT

. ATUTSTGRTIOTER2IT

Correct Answer :-

. ATOTHGATIOTR T



URToe 9fdcar 9Ty Q__Lﬁagcd{ qaad -

3EATR S IATEC, ARAavH ‘feegran sfUsar sfa aqgfEt: amaf:
giae: |

Ffd 38T AH ARGH $cid UsdcdNl Edihd AMH 3Ted | GealsT
FOANIT FedPAN Tdedd , Feold T I399ded Gideqa: Hed |
36T 3caedi (fA senfinren: oo a3 wER @y gday
o5 3BT | T UG St 3T Udaer’ sfd ar enfeRrer: sfa ar
HeIA| TGATEATT TSN, THAT UG, TeqeTeN [aqE ScaTicer: ey
Tded| ARAET Yd o SOEIR:,UfEH  REERER:, SO T
fErgAeER: fdegd | RATT Tl feoelePR fdegd | 30dd
ARAISUET $eald Af-IHAUSH ddd | 313 USCUiQHRIGaTy s7da edterd
| €A G Held 3ed | 3T Td R, %GUT:, HGTcAT g@’:,ﬁﬂ:
AT, faededlay: dht:, TAAGAUT: cdldeq: T 38del| 3739 G-
e d[ocl-3eMeh-[ah AT S T -HH I - Y- 2 RToT-HATA T 6- 3Tehai-STclTy-
TRIATSI-TOTST AT S]dd: HElod: QAT 3737 |

3efolehehlel 373d MMeell, Tdlog, 8aTsaT:, FoIN:, ATINEIGLed Hplod: JoNT:
AT |

© ZerdTfed: T T o HATE: ?

. FHIRT:



URTte 9fdcdr uedsd ch;aagcd{ gaad -

3TEATh o ‘3G, ARAaYH, ‘Regrae givsar gia udfe: ArAf:
gfas: |

A 36T AH ARGH 5Ad UededNl Eihd #AH e | GalsT
PIARIT FAPAN Tdedd |, Heold ¥ I39ed Gidede: 3ed |
3T 3credi Ry senfirren: e 3fEq 3@ R @y gday
s T | I TG S 3T Gaael” ST ar oJenfeRrer: sfa ar
HeAA| AT, TS9N, THATAAG:, TogsTEN fAqEdr scarfean: e
Usaled| SIRAGET Ud  AE SO, OREA 3REEER:, g 9
rgAgIR: fdegd | IRATT Tl feeelleR fdggd | 3¢dd
ANAUSUET Seald ATTAUSH dad | 303d UseulaAgicasd g+ eisrd
| 3TEATH oel: Held 3ed | 3719 g 4R, &ﬂ?flTUT:, HGTcAT g@':,%lﬂ':
AEIAR:, fovdeday: dt:, TAAGT: gAdeq: T 3IME| 3749 G-
FogI]Ccl-3T2MNh- T AT T -HH G - Y- 2T RIST-HATA g - 37T -
TRIATSI IS Isdd: Agled: ATHRT: 37T |

ITYfcichehTel 33T Il Tdlog, 6arsay:, FHIW:, ATIGRIGNed Helod: JoNT:
e |

TIMTERTST: T8 &: ?

3.
. qad:

Correct Answer :-

!



velienl afScar TeNfAfEser Tered Ye#ccl Yaad -

CIEDIIEEREERINCIDERIGEI R
ST fUaRl go¢ gradaTAa1l
I PrcrGITNER e AT LTTTA e aclT

2 29

T FEATTI AT e 4 TeT gieia|
AT AT U1 TEGAT 979l - IveTsameTil

a’ﬁm—%rm?ﬁ?



Ui ufecar yeaed ﬂsﬁdj__l’rdi qIaad -

STITCITE: ARISHIA: Hiely Yuliciear: (guildear: ) d¢ facaam
PICATHD SFAUG TaoleHAl AT | T&F faar waeeraa: Raare,
AT T gelier ST | WsTAr: sserlicgeeRacasiddd fhedres

AreaAdcl JAAR qFelTsaaal faoft qedgearTsfafieagd saaanid
| & IeT Toderse]d, dal d&g fOdr Rigaredagfaurerd Hrere d: |
ITEST T It ReansfT gaeg sifasamTearedr avait |

dTelehed ° TacAagol A2 Uiecd I8 &1 dieHesid dea’

T FEAEIIIAT PRIA | IUeHd IFBHI=IT: T FTelenl gfaRa
a¥f: gate] dale] dargentsr Ffaem: Wammﬂw | 3reficT = gafor
AREAVTSCERIA: HHAR: SINMEE I U H o], He a0l
A SeweT | dahY AT T IS Alcadfeddd | AT &
UhEHTAG (e JcHIA AhIEITH IHTHAUeA, HoANHEAIhIOT Ahg (A H Tebel
ST FABIA T AlecaeadeddeaaIsTAd IETd AT Toaraey
SN IRATCASTA, AHGTAGIRHANTS | TF T Ifdegrard =
AGTHATAA RUEAGT AT, He AT TEIT Afae deledaedd |
TMfAeararied Hi¥dd HlaAedde] deg ufasmear afeaasd
AT ASFEIGARAATT | STl ITEusSI s gae=ea
TATTAET HEATT IRUTA |

ASHITT IETH 3R -
1. :
AT

2.

=
dllldegHdldcHIgl:
3.

FoRA:

a

Correct Answer :-



27) .
eallehl Ufdcar srefafésesr yeaey TGHCH I -

LARAT AT E: ARSI |
TSMH>SIId HIH: AT sTaRIT
HraTgafd @FAlg: GFARCEATATIsHA: |
TAfAsRIE JREART AT JoreaAfe i

HEATT JoTRITT ?
| gigemane
, Sfaemng
Correct Answer -

B ERINIC

vollenl afScar rafAfsery weaed YgHccl I -

28)

arTATidaayeFdl arerufdacdd|
STTa: U ge¢ gradaERatl
AT FocoradYRERYUTAT AT ATITEATod dl

e ] e s | e |
T AIOTTEGUSHATUS AR AT LATIHTH=T|
mam?g?ramaqﬁlﬁ‘f: ga: el gioidTl
AT AT 917 TIEICAT TGl AT aTET|

fereel graciotAgadl gl ?



. HedelTATT
QT%TQFIW

2.

, aiETemeTa

4 AL FIGIE

Correct Answer :-

ST ATART

] RdcU:
Correct Answer :-

. JRAc:



Ui ufecar yeaed ﬂsﬁdj__l’rdi qIaad -

STITCITE: ARISHIA: Hiely Yuliciear: (guildear: ) d¢ facaam
PICATHD SFAUG TaoleHAl AT | T&F faar waeeraa: Raare,
AT T gelier ST | WsTAr: sserlicgeeRacasiddd fhedres

AreaAdcl JAAR qFelTsaaal faoft qedgearTsfafieagd saaanid
| & IeT Toderse]d, dal d&g fOdr Rigaredagfaurerd Hrere d: |
ITEST T It ReansfT gaeg sifasamTearedr avait |

dTelehed ° TacAagol A2 Uiecd I8 &1 dieHesid dea’

T FEAEIIIAT PRIA | IUeHd IFBHI=IT: T FTelenl gfaRa
a¥f: gate] dale] dargentsr Ffaem: Wammﬂw | 3reficT = gafor
AREAVTSCERIA: HHAR: SINMEE I U H o], He a0l
A SeweT | dahY AT T IS Alcadfeddd | AT &
UhEHTAG (e JcHIA AhIEITH IHTHAUeA, HoANHEAIhIOT Ahg (A H Tebel
ST FABIA T AlecaeadeddeaaIsTAd IETd AT Toaraey
SN IRATCASTA, AHGTAGIRHANTS | TF T Ifdegrard =
AGTHATAA RUEAGT AT, He AT TEIT Afae deledaedd |
TMfAeararied Hi¥dd HlaAedde] deg ufasmear afeaasd
AT ASFEIGARAATT | STl ITEusSI s gae=ea
TATTAET HEATT IRUTA |

3T EHATETH ATHET 3AdN: A -

Correct Answer :-



Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? / B & JHPT ﬁq I?
1. Asvaghosha, Kamban, Nagarjuna / 3TATET, hald, F!'I'«"I'IGiH

2. Asvaghosha, Nagarjuna, Vasumitra / 37T, amsj?-r, a’@@?

3. Asvaghosha, Kalidasa, Nagarjuna / 374TEW, difored, H‘W‘I‘Gi?[

4. Kamban, Banabhatta, Asvaghosha / e, CIGE, [T AT

Correct Answer :-

+ Asvaghosha, Nagarjuna, Vasumitra / 37478, H’N‘I‘IG_F[ g E2E|

2) Which neighboring country of India was referred to as ‘Serendib” by the Arabs? | HRRd & fore ‘l?ﬁTﬁ W BI 3R gRT W= F FU § Hefid
foran U2

1. Nepal / AU
2. Pakistan / O/
3. Myanmar / FITHAR

4. Sri Lanka / iciepT

Correct Answer :-

e Sri Lanka /%ﬁw

3) Evaluation that is used to monitor the learning progress of students during the period of instruction is called as: / 98 m, S| ﬁ%ﬂ @t

Jafl & IR ol B SHftnTH uftbar B R $31 & forg s¥dwTe e wiman 3, f wgaman @:
1. Summative evaluation / TRTcHh Hedidhel

2. Diagnostic evaluation / AgTieid ZFL?!TI?FT

3. Placement evaluation / faidISTeT Feidnet

4. Formative evaluation / f@ToTcareds Hedihd

Correct Answer :-

« Formative evaluation / f&TOTcH® 951(*?1.553

4) What%do you mean by BOD (Biochemical Oxygen Demand)? / .31 (s&fiea sfefive feuis) ¥ smust wr
St 82

1. Oxygen demand by aquatic plants / ST QT §RT JTaRTSTe T AT

2. Oxygen demand by aquatic animals / STefT U‘{]_:.’rﬁ ERT TSI &Y FATeT
3. Industrial demand for oxygen / 3iTeFETST=T & forw 3iaNfares T

4. Water pollution by organic waste / Sifdes 3UfUE gRT STel UquoT

Correct Answer :-

+ Water pollution by organic waste / Sifdeh 3TTTIE gRT STl Uyt

5) defined, ‘Social Sciences as those bodies of learning and study which recognize the simultaneous and mutual action of physical

and no-physical stimuli which produce social relation’. / 3 ufeura foear ﬁ?, TR ﬁ?ﬂq, ST 3R 3T & 3



el & ¥u A g o IRINS R smiRes Sawmeil ®1 URWURS fobdar ) Wigpd Hd 7 SR ArHIfore ddy s g1
1. James High / SI9H &8

2. Macaulay / #epiet

3. John Major / STl #R

4. Bining & Bining / fafeer v fafor

Correct Answer :-

« James High / ST& T

6) The research that is based on observed and measured phenomena and derives knowledge from actual experience rather than theory or belief is
known as: /

sﬁwﬁamﬁm;ﬁvu&hamsﬁwanmﬁaﬁm%aﬁvﬁmmm%mmﬁmﬂwmmmm%
FHeardr gl

1. Empirical research / Hﬂ“ﬁ?ﬁ 3N

2. Survey research / GA&TOT 3=dWOT

3. Deductive research / JTaaIeh 3f=adwoT

4. Quasi-experimental research / IY-yATcAS 3=dyoT

Correct Answer :-

« Empirical research / Mﬂm 30T

7) According to Seligman, ‘Ethics and Education’ are included in: / AR & SR Afaear sk fRram Eﬂ'ﬁ e _E»'-ﬁ' %
1. Semi social science / 31 TTATTSIS A==

2. Social studies / ATATISIR 3T

3. Pure social science / [ Ao fa=treT

4. Science with social implication / TSI fATRATS aTel fa=ime

Correct Answer :-

« Semi social science / 31¢T TS fa=ae

8) Which one is not a Nataka (Play)? / @& & #l9 vs aes (vd) =gt 872
1. Pratigya Yaugandharayanam by Bhasa / HTH GRT PIGEl ?ﬂTI"ﬂTI'Q'UTH

2. Saptasati by Hala / & §RT @a&dT

3. Uttara Ramacharita by Bhavabhuti / #asfd g1 3o) TaaRd

4. Mricchakatika by Sudraka / g gRT FTodbiedT

Correct Answer :-

« Saptasati by Hala / &el gRT @&ddT

9) SEBI stands for ./ @t (SEBI) &1 e &7 &l

1. Securities Exchange Board of India / FaRErst vaader S 37T ST
2. Securities and Safeties Exchange Board of India / FRaaRENST U Awdst varadel S 3T SER

3. Securities and Stocks Exchange Board of India / RFaREST U5 Teic vaadst ais 316 sfzar

4. Stock Exchange Board of India / T€Idh Toraeiot S 37w S



Correct Answer :-

« Securities Exchange Board of India / e Rt vaa=isr S 3T HER

10) What is the standard sea level pressure in millibars? / A& H'J:_I,a’l' TR F1 g ARER A Faraars?
1. 1000 millibars /1000 ffereR

2. 1100 millibars /1100 fAfeaR

3.1013.25 millibars /1013.25 fATER

4.1025.00 millibars /1025.00 fAferaR

Correct Answer :-

« 1013.25 millibars /1013.25 fAferER

11) When was the National Human Rights Commission constituted? / ITSEI ATTATIASR HTAIT HT ST e FHAT I1AT 412
1. 1992

2. 1995

3. 1996

4. 1993

Correct Answer :-

« 1993

12) Why should social science be a part of a core curriculum? / GTHTS® R7ATT FY v HAET GIoIHhA BT frear #3t = TR
1. Helps to develop critical thinking / 36T T I [ARTAT IR H Feg AT ¢

2. It deals with human behavior / Ig HATAT cIIER T gafaa ?-'l

3. To develop awareness of the world / T&4T &Y SITITRERAT B fawid T & forw|

4. To develop the country / 32T & faefiid #ia & forw|

Correct Answer :-

« Helps to develop critical thinking / IT&<T AT &l fASHRAd Tel 7 FAag HAT &

13) ‘General Ticket System’ is another name for . SeRA feFegomey & I AH 2l
1. Multi-Member Constituency / 9g-H&Ed HaToe &

2. Triple-Member Constituency / F-Teea fAata= gy

3. Double-Member Constituency / f§-Texa e &

4. Single-Member Constituency / Tehel-HGEd [GEIECEAE]

Correct Answer :-

+ Multi-Member Constituency / g-Ha ¥ aToe &

14) Discussion method is also known as: / IR=r=T ‘Tq'ﬂﬁ' Y 57 ATH A Y FT AT E:
1. Project method / RIS Ugia

2. Holistic method / quTdTaTe) ugfa

3. Socratic method / ﬁ?b_{'l?ﬁ ugta



4. Activity method / TRy Ugfa

Correct Answer :-

« Socratic method/{]ﬁﬁ{l?—i Tgfa

15) Observation of one’s own behavior by looking within is ./ et e & garT T4 F HieR AT T99 F TTER 1
EeCicn) FEaAT 1

1. survey / TI&TOT

2. experimentation / ST
3. introspection / 3edTdellche
4. rating / HeATehed

Correct Answer :-

« introspection / edTdelldhe]

16) Who among the following is associated with the perspective of “Education as Social Transformation”? / Rrafaf@a & & sl «amfes
IREds & T & Rietr 5w tewior F gafda &2

1. Mahatma Gandhi / FETcHT Y

2. Dr. Radhakrishnan / ST. RTYTH O
3. Jacques Rousseau / STdHUIH =1

4. Paulo Freire / Gr3ell thaY

Correct Answer :-

« Paulo Freire / UT3ell thaY

17) Who among the following issued the founding charter of the English East India Company? / Frafafaa # 9 Fraa éﬁw E173 Eﬁ'IIT
HYAY HT HEATIH AT TR R

1. Elizabeth 1/ Tforsiaiy 1
2. James 11 / SIFF 11

3. James I/ So [

4, Charles I/ Tmed 1

Correct Answer :-

e Elizabeth1/T <>~|5|, R

18) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? / RS9I AT T TATYT F AT el F1 Hedlel
e °r?

1. Balban / Sefdlel

2. Qurtub ud din Aibak / PJa-3G-81T Ve

3. Razia Sultan / IS Geodia

4. Mohammad bin Tughlaq / AgFae &= JTelh

Correct Answer :-

+ Mohammad bin Tughlaq / FE&FE, =T JaTelh



19) Who was the first President of the Indian National Congress? / Rl IS HTI F TUH egaT Hid 42
1. Womesh Chandra Bonnerjee / SRR Teg; Aol

2. Badruddin Tyabji / Se3e] cHaasil

3. Bipin Chandra Pal / faf0eT Ig qrer

4. Lala Lajpat Rai / eTell oToTdd I

Correct Answer :-

+ Womesh Chandra Bonnerjee / TATHRI Teg, delail

20) Who remarked that ‘our secondary education remains the weakest link in our educational machinery and needs urgent reform.’? / ic:cy

feoqoft 1 o gardt Area i Rvaw, gl AfdF el A1 wad FAR F31 ¢ 3R 393 T YUR A JqIAFATRI'?
1. Dr. Rajendra Prasad / 3 3Toleg UHTG

2. Dr. S. Radhakrishnan / 3T, T4, YTRTOT

3. Dr. Ambedkar / 3F. mﬁm

4. Maulana Abul Kalam Azad / FSTT 3ol Helld TG

Correct Answer :-

« Dr. S. Radhakrishnan / 31, TH. TTgHE0TT

21) Inquiry-based Learning is based on which philosophy of education? / =aNoT-3reni¥e rfaara, e & fr gelar uv amenRa &
1. Realism / Turdarg

2. Idealism / 3G <TaTg

3. Existentialism / 3TT&dcadrg

4. Naturalism / Jpfcarg

Correct Answer :-

+ Naturalism / 9 SEIC

22) India signed a 20 — year ‘Treaty of Peace and Friendship’ in 1971 with L HRAA 1971 H & amy 20 iy <enifer i B=ar
e W gFanaR

1. Sri Lanka / & feT

2. Bangladesh / ST eIERr

3. Soviet Union / @Yfaad @9
4.US/ AR

Correct Answer :-

« Soviet Union / Sfaad T€

23)  is a body of the United Nations composed of all member states./ ITI_EI-T{ rse I TH FHE % S waft wEET vt @ AiAT %I
1. Security Council / gI&TT ufug

2. Economic and Social Council / 3% wa @raniores aRue

3. Trusteeship Council / =TT TRuE

4. General Assembly / ASTHHT



Correct Answer :-

« General Assembly / HSTHHAT

24) The benefits of Green Revolution in India were limited only to JRaAgRawfAF I Faar_ aeE AR
1. Wheat and rice / ﬂ’l’é?fﬁ? drdel

2. Barley and jowar / Sit 31 Sa

3. Barley and cereals / St 3R 31aTST

4, Rice and barley / aTaer 3T it

Correct Answer :-

» Rice and barley / dTdel RSt

25) The head of a guild in ancient and early medieval India was called WA IEiC) ﬁwmmag?ﬁr-r 0T N UF T &F LLiLc) HI
el SITdT AT|

1. Adhikari / 31TeRY
2. Adhipati / 31fQufa
3. Gahapati / ITg0Tc
4. Jethaka / Siciep

Correct Answer :-

« Jethaka / Side

26) The study of fossils as a way of getting information about the history of life on earth and structure of rocks is known as: / ‘{%ﬁwsﬁﬂ?{*
sfaera 3 gceEt i TTTaT & BT & AR 9o F A v @AY & 7 A sharesl 1 reqdsr 98 Fedrane:

1. Ecology / IR

2. Geography / TSz

3. Paleontology / feraiaeteisit
4. Geology / foraTeIrsiy

Correct Answer :-

« Palcontology / ¥feraiaeralist

27) The thickness of the Troposphere is maximum at the Equator during which of the following seasons? / W?WTW
&TSTHATSH (SIREHIRR) Y AlerS FFT & & 5w Alasw A gad afF v §?

1. Winter / 2f/cepTeiled

2. Spring / IHd

3. Summer / FCHBTeIA
4. Autumn / RS FJ

Correct Answer :-

« Summer / FSHPTAIA

28) The value of final goods and services produced in an economy in a year is known as ./ T T F P srdfegasar & scunfea ifaw
FEqat I Jas & Fqew H & T H ST ST 81



1. Per Capital Income / Ifel GaiT 3T

2. Gross Domestic Product / Hehel Te 3cUTG

3. Gross National Income / Hehel TEIT 3T

4. Gross National Product / Hehel IET 3cUTG

Correct Answer :-

« Gross Domestic Product / Hehel EI'QF[\'.’:FU'IE

29) Objective-based teaching is suggested by: / 3G&2F-3MUTR FRAGTOT So1% garT ST I &

1. C. Norman /?ﬂ. :ﬁff:f

2. D.W. Allen / &Y. 3ee, Teld

3. Benjamin S. Bloom / 1Tt TH. so[d

4. David Crowder / 3% iex

Correct Answer :-

« Benjamin S. Bloom / SSITf#T TH. S A

30) Which one of the following is a disadvantage of Inquiry-based Learning? / #afaf@d & & i sr=awor-amenRa 3rfAers 1 v amer @2
1. Promotes a deeper understanding of content / TTFIY Y IS T TSI & forw IRT axar &

2. Involves a lot of preparation and planning time / % Igd AR Y 3R Dot gag anfde dar g
3. Builds initiative and self-direction / Ugel 3R 3MTcA-TER T 3MUR T@dT %’l

4. Warms up the brain for learning / 37fera & forw ARETTSH Y T(‘HT%H T %l

Correct Answer :-

+ Involves a lot of preparation and planning time / I% sIgc AR Y 3R At g nfdre war gl

31) Which Finance Minister of India initiated the New Economic Policy (NEP)? / TR % far e #ilt &f 71§ 3 afifey (werdelh) v qeamar
#r?

1. Morarji Desai / AR SHTS

2. Manmohan Singh / znmﬂ%?r ﬁ%

3. CD Deshmukh / &Y é{?ﬁj’@'

4. TT Krishnamachari / €1€Y FS0THamaRY

Correct Answer :-

« Manmohan Singh / A e

32) Which plan discussed in detail the food security in India? / TR & T & ¥ v fF Ao W _Arar ¥ ==t §§"’
1. Fifth plan / grerdy TstaTt

2. Eighth plan / 3TTadT et

3. Sixth plan / TS Tt

4, Ninth plan / AtdY Zstar

Correct Answer :-

« Ninth plan / Sidt Irsar



33) Which Article of the Constitution of India empowers a citizen the right to move to the Supreme Court to enforce Fundamental Rights? /

HR & TR F1 FIT W 31T U ARRS A AfoF sftart it vafda 7 & R wafea =amamea § 9= &1 sftwr dary?

Correct Answer :-

e 32

34) Which Article of the Indian Constitution provides for an independent Election Commission? / AR wiyens s1 Pl ar 317-_!’@7:\' Th
TS AT AT TEToT FIAT 52

1.323
2.327
3.324
4.325

Correct Answer :-

. 324

35) Which of the following is not applicable to Micro Teaching? / [Groicicok R kac q&d RreqoT (FATSH aﬁﬂT) T aﬂlﬂ'ﬁ a'?
1. Immediate feedback is not gained. / dchlel qﬁ'@ T A% Bar %l

2. Duration of instruction is limited from five to ten minutes. / &2 &Y 3a@fr R U O e fFee g @fFa ?ﬂ?ﬂ' ?a'l

3. The size of the learning group is small. / 37T HHE hT 3ThR BT BT %

4. Teaching is carried out under controlled conditions. / freToT, I gRTEATIAT F o STar &

Correct Answer :-

« Immediate feedback is not gained. / dceblel uﬁgf? g F@f _@Fﬁ %I

36) Which of the following dynasties had the longest rule? / fAFTATET 7 & THW TSI FT AATFHT TG T UT?
1. The Pratiharas / UfdgR

2. The Palas / OTeT

3. The Senas / =TT

4. The Rashtrakutas / ITER<T

Correct Answer :-

« The Rashtrakutas / ITERC

37) Which among the following Viceroys was associated with the Ilbert Bill Controversy? / fAw=faf@a A A ST A1 IR gerae faer farg
L CI

1. Lord Ripon/ drs o=
2. Lord Lytton / TS fare
3. Lord Curzon / QI8 &



4. Lord Hardinge / SIS

Correct Answer :-

« Lord Ripon/ﬂ%ﬁtﬁ

38) Which among the following is a major obstacle to economic development in India? / RFATITRT & ¥ Fa1 5IRA # 3T+ FAwrT & faw v
YA AT E?

1. Low productivity / fae=T Scurgendr

2. Low level unemployment / o TR I RISRY
3. High literacy rate / 3Td HI&GAT &I

4. Increased GDP rate / Hehel WW X H q@'

Correct Answer :-

« Low productivity / T3 ScUteehar

39) Which among the following is a commercial bank? / FIfaTEd & ¥ Fiv v aIOSIF dF &
1. State Bank of India / TR T I

2. Regional Rural Bank / 81313 ImaTor &

3. Reserve Bank of India / IR Retd d

4. Cooperative Bank / T&dRY S

Correct Answer :-

« State Bank of India / R T dh

40) Which among the following Mughal emperors prohibited the use of tobacco? / fawafaf@a # & frw sgerer warTe A awarg; & 3UANr /i
yfaaftra frar ar?

1. Jahangir / STERTR
2. Babur / dTeIX

3. Shahjahan / QgSTeT
4. Akbar / 3ThaT

Correct Answer :-

« Jahangir / STEfR

41) An effective teacher tries to make the class room environment more ./ Wmfﬂ'&’l’ﬁ FeTT & qIa1Eor #i 3R 3/F
T B

1. democratic / SR IH

2. autocratic / ﬁ@‘\’f

3. strict and rigid / T&T 3R FOR
4. anarchic / 3T

Correct Answer :-

« democratic / ATl Ih



The silver coin introduced by Sher Shah and continued by the Mughals was : / 9%2ITg ga@RT Fafard fFar = 3k ﬁﬂ?—l’l‘ @RI SR @1 =T
Ty FT AT 9

1. Rupaya / 2Udl
2. Asharfi / 372Thf
3. Mubhar / W
4. Dinar / IR

Correct Answer :-

« Rupaya / ®9dl

43) Many of the social problems in modern India could be due to the neglect of: / GlTi{ﬁﬁ YR | ?b_§ ATHTS FHETSAT
F1 FRU 7t IUam g AHdl 8

1. Higher Education / 3T TU&T

2. English education / 37T e

3. Value education / 3TT&eT fret

4. Technical education / dahaiTehT TRT&TT
Correct Answer :-

« Value education / 3T&eY fu&Tr

44) Who has the power to recommend the dismissal of the State Government and suspension or dissolution of State Assembly? / I AXPR

Y gEie oR 4 faurayT & e ar fges 31 R a3 o6t wifdd fews w2
1. Prime Minister / TITeT 3T

2. Parliament / §EG

3. Governor / IrsgUTel

4. Cabinet / $hid=ic

Correct Answer :-

« Governor / TIUTeT

45) Who is considered the father of Green Revolution at the world level? / ffmgTRWw Sﬁ_d wifd a? S h ﬁ HTAT SITdT %?
1. Thomas Malthus / T8 FATeAT

2. Norman Borlaug / AT SReliaT

3. Cecil Salmon / T el TerdAad

4. William S. Gaud / faferas va. 7its

Correct Answer :-

« Norman Borlaug | ATHA NLATT

46) Which of the following reason is responsible for highest percentage female migration in India? / HRd ﬁtl'%?ﬂ yaTg_ 1 I=aH

wferzraen & forg FrufefEa & @ 19 w1 FrRur SwRerh 32
1. Stability / FERET

2. Employment / JST9TIR

3. Marriage / [aarme



4. Education / fr&m

Correct Answer :-

+ Marriage / faare

47) The “Helmand Province” of Afghanistan is famous for cultivating which of the following? | Frafafea ¥ 9 feaest @d 3?1%1?

AP BT “gavE Uia” IS 82
1. Opium / 37T

2. Wheat / ?"IEV

3. Cotton / hUTH

4. Tobacco / Hﬂ'ﬁﬁ

Correct Answer :-

« Opium / 37T

48) Lal Bahadur Shastri's Samadbhi is also known as: / €T¢] d8IGR YRAT BT AT ﬂﬁ A HAH ﬁ' o} ST STt %:
1. Shakti Sthal / 1feh qUe

2. Shanti Van / QIdTaet

3. Chaitrabhoomi / FRIF#T>

4, Vijay Ghat / fasmor g1

Correct Answer :-

« Vijay Ghat / faer Te

49) Every year the government announces the prices of agricultural goods as a backing for farmers’ produce is known as ./ TP af

WHR fFaH F I & T F TU A R I & Fual Frawn At e, v} FerwmEars|
1. Limit price / TfAT e

2. Base price / 3R e

3. Exchange price / Rfa@m ™ &3

4. Support price / THAYT eI

Correct Answer :-

» Support price / qaAST e

50) How many countries of Southern Africa make the Southern African Customs Union (SACU)? / afroft srpieT & fham 3w e
il srptat W Yo |9 (SACU) &1 fHufor wvd §2

1.3
2.5
3.4

4.6

Correct Answer :-



One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the following countries Coffea charrieriana is grown? / HIHT

B U Yo o STORINATT 581 91a1 3, $BIH | Jad gidt 3 | 79 & 9 fra 33 sroadfar Suwg and 32
1. Vietnam / faadaret
2. Yemen / A

3. Cameroon / ha®l
4. Liberia / egaiar

Correct Answer :-

« Cameroon / haE

52) A variety of pedagogies that involve students in discovery or research and employ approaches of learning is called
./ Tl yoprR & Rrerorme s S @1 el @ ar srawor & afrfera et 3, o siftrm & @i «) Faifoa
FRAE,___ wEdAmEIl

1. Problem based learning / FHAEAT 3R 31fereT
2. Learning from observation / 3aclichel gRT 37T
3. Inquiry based learning / 37 OT TR 79T
4. Pedagogy of learning / 377913 T TAGTOTRMTH
Correct Answer :-

« Pedagogy of learning / 31fQaTaT T fRI&TOTRITH

53) Barak valley in Assam is famous for which among the following? / i@ & @ /e i v ard Fad e ‘JIﬁEf-T %?
1. Bamboo Industry / ST 31T

2. Petroleum Production / Uelforda 3cUteat

3. Cottage Industries / W ST

4. Tea Cultivation / AT T Wi

Correct Answer :-

+ Tea Cultivation / =T T Well

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? / ‘maﬂﬁﬂﬂ' T AT AEFAT F A F o
e sHTSAAT T 3TN T STaT &2

1. Melson units / Held SHETT

2. Beaufort Scale / a{'ﬁé SEC

3. Dobson units / ST ST

4. Sieverts / FaE

Correct Answer :-

+ Dobson units / ST ST

55) Quit India Movement was launched in the year . /#RA S AEaTay & & o I 4|
1. 1945

2. 1942

3.1930



4. 1919

Correct Answer :-

. 1942

56) What is the approximate interval between spring tide and neap tides? / J&d SAR-HTET kg e SR-HTET & a"l’a’ﬂ'ﬂmﬁﬂ' AT FATR?
1.30 days / 30 &=

2. 1day /1A

3.7 days /7 f&at

4.15 days / 15 &

Correct Answer :-

. 7days/7ﬁ.?|'

57) The Lion capital at Sarnath belonged to which one of the following kings? / WR=ATY FI g Tsrer=i Ar=faf@a & & By ven @ wafa
o

1. Vikramaditya / fashamtieea
2. Kanishka / &S

3. Ashoka / 378/

4. Ghatotkacha / T€ichd

Correct Answer :-

« Ashoka / 37?0

58) In which layer of the atmosphere is Ozone gas concentrated? / aTIHSe HY FFE 9T 7 3l 3w HFRea &2
1. Asthenosphere / TEIATHIR

2. Stratosphere / HAATTHS

3. lonosphere / 3TAAFS T

4. Exosphere / ST&IHS T

Correct Answer :-

« Asthenosphere / TEIARTHIRR

59) Chalcolithic Age is also known as: / ATTPITATAH gar F1 39 T F oft ST AT B
1. Neolithic Age / faaferfdes gar

2. Copper Age / dTdH a1

3. Stone Age / UTNTOT JdT

4, Tron Age / dilg a1

Correct Answer :-

« Copper Age / dTd JIT

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali invade India for the first time? / FFAfaf@T & ¥
e AHaHTer & I ATHF HEHAE ATE HeaTall f Tgall aR TR I HATHACT T a2



1. Jahandar Shah / m UE)
2. Shah Alam II / ?Tg 3TeTH 11
3. Bahadur Shah / w A
4. Ahmad Shah / 3TgHc QAT

Correct Answer :-

o Shah Alam II / Tg 3Teld 11



